



COMPENSATION PLAN



V 12-18a

INTRODUCTION

NOBLE 8 REVOLUTION

Thank you for your interest in Noble 8 Revolution. We look forward to helping you secure your personal financial future as you help us with our Mission to benefit worthy charities worldwide. Our goal is to provide you with cutting edge products and services to pave the way for all facets of Personal Development and Growth. As you become more familiar with our powerful products, you will be eager to share them with others.

Our compensation plan is a one of a kind multi-campus hybrid plan paying through its many classrooms and campus structures making Noble 8 Revolution one of the most lucrative business opportunities in the industry!

We are 100% committed to your success.

NOVICE CAMPUS

COMPENSATION TABLE

					
Classroom	Sales	Sales Volume	Next Course Purchase	Next Campus Purchase	Net Earnings
Classroom One (3)	\$25 X 3	\$75	\$35	n/a	\$25
Classroom Two (9)	\$35 X 9	\$315	\$150	n/a	\$86.25
Classroom Three (27)	\$150 X 27	\$4,050	\$800	\$300	\$1,735
Classroom Four (81)	\$800 X 81	\$64,800	\$2,000	n/a	\$40,120
Classroom Five (243)	\$2,000 X 243	\$486,000	none	n/a	\$291,600

QUALIFIERS:

1. Make an initial \$25.00 purchase of the entry level course from “Life Mastery Academy”.
2. Become “Commission Qualified” by making three personal \$25.00 “Life Mastery Academy” sales

APPRENTICE CAMPUS

COMPENSATION TABLE

					
Classroom	Sales	Sales Volume	Next Course Purchase	Next Campus Purchase	Net Earnings
Classroom One (3)	\$300 X 3	\$900	\$500	n/a	\$130
Classroom Two (9)	\$500 X 9	\$4,500	\$1,500	n/a	\$1,650
Classroom Three (27)	\$1,500 X 27	\$40,500	\$2,000	\$3,000	\$23,350
Classroom Four (81)	\$2,000 X 81	\$162,000	\$5,000	n/a	\$100,300
Classroom Five (243)	\$5,000 X 243	\$1,215,000	none	n/a	\$729,000

QUALIFIERS:

1. FIVE (5) total personal \$25.00 “Life Mastery Academy” sales of Novice Campus Course One “Preparing for the Journey”.
2. Apprentice Campus purchase of \$300 will be AUTO-Deducted from your Novice Campus Classroom Three profits.

MENTOR CAMPUS

COMPENSATION TABLE

					
Classroom	Sales	Sales Volume	Next Course Purchase	Next Campus Purchase	Net Earnings
Classroom One (3)	\$3,000 X 3	\$9,000	\$4,000	n/a	\$2,300
Classroom Two (9)	\$4,000 X 9	\$36,000	\$8,000	n/a	\$17,200
Classroom Three (27)	\$8,000 X 27	\$216,000	\$10,000	\$8,000	\$133,200
Classroom Four (81)	\$10,000 X 81	\$810,000	\$15,000	n/a	\$511,500
Classroom Five (243)	\$15,000 X 243	\$3,645,000	none	n/a	\$2,187,000

QUALIFIERS:

- SEVEN (7) total personal \$25.00 “Life Mastery Academy” sales of Novice Campus Course One “Preparing for the Journey”.
- Mentor Campus purchase of \$3,000 will be AUTO-Deducted from your Apprentice Campus Classroom Three profits.

MASTER MENTOR CAMPUS

COMPENSATION TABLE

					
Classroom	Sales	Sales Volume	Next Course Purchase	Next Campus Purchase	Net Earnings
Classroom One (3)	\$8,000 X 3	\$24,000	\$10,000	n/a	\$6,800
Classroom Two (9)	\$10,000 X 9	\$90,000	\$25,000	n/a	\$38,000
Classroom Three (27)	\$25,000 X 27	\$675,000	\$30,000	n/a	\$442,500
Classroom Four (81)	\$30,000 X 81	\$2,430,000	\$40,000	n/a	\$1,539,500
Classroom Five (243)	\$40,000 X 243	\$9,720,000	none	n/a	\$5,832,000

QUALIFIERS:

1. EIGHT (8) total personal \$25.00 “Life Mastery Academy” sales of Novice Campus Course One “Preparing for the Journey”.
2. Master Mentor Campus purchase of \$8,000 will be AUTO-Deducted from your Apprentice Campus Classroom Three profits.

EARNINGS DISCLAIMER

NOBLE 8 REVOLUTION



At Noble 8 Revolution, we make every effort to accurately represent our products, services and their potential for income.

As with any business, results may vary and will be based on your individual background, business experience, expertise, and level of desire. There are no guarantees as to the level of success you may experience. Again, we cannot guarantee your results and/or success.

Success as a Noble 8 Revolution "IBL" requires personal and team retail sales. Hard work, diligence and leadership along with how effectively you utilize the tools and information presented by www.noble8revolution.com will be determining factors of your success.

Noble 8 Revolution will always strive to conduct its business in an ethical, legal manner under the guidance of its legal counsel. Our compensation plan is solely a depiction of how our program works and is not intended to represent or guarantee anyone's success or achievement of these results.

The use of our Noble8Revolution information, products and services should be based on your own due diligence and you agree that our company is not liable for any success or failure of your business directly or indirectly related to the purchase and use of our information, products and services.

For further questions contact us at qualitycare@noble8revolution.com

Business Hours are Monday through Friday 10:00 AM to 5:00 PM PST.

GLOSSARY

INDEPENDENT BUSINESS LEADER (IBL)

A Noble 8 Revolution CUSTOMER who has made 3 or more personal sales of \$25 or more per sale.

- An “IBL” may receive payments from more than one Classroom on more than one Campus at the same time.
- An “IBL” does not need to complete any Classroom to move to the next Classroom in a Campus (to advance the next Course purchase must be made). Exception: Campus Advancement

PERSONAL SALE

When a member refers an individual or entity to purchase the “Life Mastery Academy” course Preparing for the Journey using their personalized referral link.

CAMPUS

The Noble 8 Revolution compensation plan consists of 4 Campus structures consisting of 5 Classrooms each. Each Classroom consists of a unique Course which is purchased through a members growth in the “Life Mastery Academy”.

CUSTOMER

All individuals or entities who make a purchase of a Noble 8 Revolution “Life Mastery Academy” product or service.

CLASSROOM

Each of the 4 Campuses has 5 Classrooms and each Classroom has a maximum number of individuals. Eg. Classroom 1 - 3 Classroom 2 - 9 Classroom 3 - 27 Classroom 4 - 81 Classroom 5 - 243

CAMPUS ADVANCEMENT

The first commissions from Class 3 (level 3) will be automatically utilized to purchase your next Campus Course 1. IBLs need a total of 3, 5, 7 & 8 personal sales to be Commission qualified in all four Campuses.

CORE COURSE

When a member refers an individual or entity to purchase the “Life Mastery Academy” course Preparing for the Journey using their personalized referral link.

ELECTIVE COURSE

Course content that can be purchased by a Retail Customer exclusively through a Noble 8 Revolution IBL.

REQUIRED CORE COURSE

The unique content provided through “Life Mastery Academy” for each Classroom on the four Campuses.

COMMISSION QUALIFIED

A Campus Qualified Customer who has personally made 3 personal \$25 sales. Also recognized as an IBL. Additional Sales Needed to qualify for Campuses 2,3,4.

CAMPUS QUALIFIED

A Customer who has made a \$25 Noble8/LMA product purchase

DIAMOND “IBL”

An Independent Business Leader “IBL” who has entered into all four Campuses.